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QUESTION 1

What is the default priority of VRRP? 

A. 1 

B. 0 

C. 100 

D. 255 

Correct Answer: C 

 

QUESTION 2

Which of the following devices can be used as PDs? 

A. Wireless AP 

B. PoE switch 

C. AC6605 

D. VoIP phone 

Correct Answer: AD 

 

QUESTION 3

Without considering the MIMO gain, what is the correct description about EIRP? 

A. In wireless communication engineering, EIRP is commonly used to measure the strength of interference and the
ability of the transmitter to transmit strong signals. 

B. The product of the power supplied by the EIRP to the antenna of the radio transmitter and the absolute gain of the
antenna in a given direction 

C. EIRP represents the transmit power of the AP 

D. EIRP=P transmit power-Loss feeder loss + G antenna gain 

Correct Answer: ABD 

 

QUESTION 4

The following is a statement about the combination of the WLAN room subsystem and the existing operator room
system. What is wrong? 
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A. The WLAN signal is not in the same frequency band as the GSM, CDMA, 3G and other signals, and the combiner
has a high isolation, so the signal between different frequency bands No interference with each other 

B. Existing room division devices (power splitter/coupler/antenna) need to support the 2.4G frequency band of WLAN,
otherwise the room division device needs to be replaced. 

C. If the operator\\'s signal can meet the coverage requirements, it can usually be satisfied after accessing the WLAN
signal. 

D. There must be a parallel topology relationship between the APs, and multiple APs are not allowed to be connected in
series on one branch. 

Correct Answer: C 

 

QUESTION 5

Which of the following wireless applications has higher bandwidth and real-time requirements? 

A. Mobile office 

B. Wireless medical 

C. Rail transit 

D. Video return 

Correct Answer: D 
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